City of Vineland, NJ

RESOLUTION NO. 2018 - 93

A RESOLUTION APPROVING SURETY REDUCTION, RELEASE OR RENEWAL AS SUBMITTED BY THE CITY ENGINEER.

WHEREAS, pursuant to N.J.S.A. 40:55D-53 and a report submitted by the City of Vineland Engineer dated February 5, 2018, a surety reduction, release or renewal is hereby requested.

NOW THEREFORE BE IT RESOLVED, by the Council of the City of Vineland that:

- 1. Requests for Surety Reduction as submitted by the City of Vineland Engineer are hereby approved for:
 - Madison Square Major Subdivision, Brewster Road, Project #05-658
 - BDGS Industrial Building, Garden Road & Mill Road, Project #15-00061
 - AG Auto Group, LLC, N. Delsea Drive, Project #12-1279
- 2. Pursuant to N.J.S.A. 40:55D-53, the City Clerk of the City of Vineland is hereby authorized and directed to notify the obligor of the action taken by City Council as set forth above.

Adopted:

President of Council

ATTEST:

City Clerk

REPORT TO:Mayor and City CouncilFROM:Brian Myers, City EngineerDATE:February 5, 2018RE:Surety Report

The Engineering/Planning Division has conducted an on-site inspection of the below project for the purpose of determining compliance with required site improvements, and has prepared the following report:

BOND REDUCTION:

1. Madison Square Major Subdivision- Brewster Road, Block 653, Lot 7.1, Project #05-658.

Mailing Address:	Ms. Dan Kuzmicz
-	B & D Kuzmicz
	782 S. Brewster Road, Unit 1B1
	Vineland, NJ 08361

Type of Surety: Letter of Credit #25017 for \$294,960.00 (previously reduced from \$575,780.00)

Surety Expiration Date: June 7, 2018

Site inspection indicates some required site improvements have been completed as listed in the attached surety estimate. Therefore, it is being recommended that surety be reduced to \$172,734.00.

2. BDGS Industrial Building - Garden Road & Mill Road, Block 602, Lot 5, Project #15-00061.

Mailing Address:	Rocco Tedesco, Esq.
U U	Tedesco Gruccio & Reuss
	727 Landis Avenue
	Vineland, NJ 08360

Type of Surety: Letter of Credit #16001 for \$1,146,200.00

Surety Expiration Date: N/A

Site inspection indicates some required site improvements have been completed as listed in the attached surety estimate. Therefore, it is being recommended that surety be reduced to \$384,180.00.

3. AG Auto Group, LLC – N. Delsea Drive, Block 604, Lot 16, Project #12-1279.

Mailing Address:	AG Auto Group, LLC
	2332 N. Delsea Drive
	Vineland, NJ 08360

Type of Surety: Certified Check for \$10,100.00

Surety Expiration Date: N/A

Site inspection indicates some required site improvements have been completed as listed in the attached surety estimate. Therefore, it is being recommended that surety be reduced to \$5,100.00.

Very Truly Yours,

Brian Myers

City Engineer

BM/YR

xc: City Clerk Finance Dept.

Location: Northwesterly corner of Garden Rd & Mill Rd	Made by: D	avid Maillet		Date: December	23, 2015	Rev 1/15/2016	3			
Project: BDGS Garden Rd & Mill Rd Industrial Bldg	Checked by	: Stephen Hawk		Date: December	31, 2015	Rev 2/2/18				
Project #: 15-0061	1.11E+90	[1	1				
	1				· · · · · · · · · · · · · · · · · · ·					
Improvement Description	Unit	Quantity	U-Price	Total Amount	Date-Inspect	%Complete	Balance	Date-Inspect	%Complete	Balance
		<i>'</i>			········	I				
DEMOLITION	J	I								
Site Clearing	AC	8.50	\$1,000.00	\$8,500.00	1/14/2016	100%	\$0.00	2/2/2018	100%	\$0.00
Site/Lot Grading	AC	8.50	\$3,000.00	\$25,500.00	1/14/2016	100%	\$0.00	2/2/2018	100%	\$0.00
LANDSCAPING	• ·									
Seeding	SY	40000	\$1.00	\$40,000.00	1/14/2016	0%	\$40,000.00	2/2/2018	70%	\$12,000.00
Shade Trees	EA	24	\$500.00	\$12,000.00	1/14/2016		\$12,000.00	2/2/2018	0%	\$12,000.00
Shrubs	EA	168	\$30.00	\$5,040.00	1/14/2016		\$5,040.00	2/2/2018	0%	\$5,040.00
GENERAL SITE IMPROVEMEN										40,0 10.00
6' High Chain Link Fence	ILF	1052	\$30.00	\$31,560.00	1/14/2016	0%	\$31,560.00	2/2/2018	0%	\$31,560.00
6" Thick Dense Graded Aggregate	SY	14,216	\$15.00	\$213,240.00	1/14/2016		\$213,240.00	2/2/2018	100%	\$0.00
3" Thick Hot Mix Asphalt Base Course	SY	8,114	\$15.00	\$121,710.00	1/14/2016		\$121,710.00	2/2/2018	100%	\$0.00
2" Thick Hot Mix Asphalt I-5 Surface Course	SY	14,216	\$9.00	\$127,944.00	1/14/2016		\$127,944.00	2/2/2018	100%	\$0.00
Linestriping	LS	1	\$2,500.00	\$2,500.00	1/14/2016		\$2,500.00	2/2/2018	100%	\$0.00
Restore Pavement	SY	70	\$8.00	\$560.00	1/14/2016		\$560.00	2/2/2018	100%	\$0.00
Site Lighting	LS	1	\$16,000,00		1/14/2016		\$16,000.00	2/2/2018	100%	
Stop Sign	EA	2	\$200.00	\$400.00	1/14/2016		\$400.00	2/2/2018		\$0.00
Concrete Curb 6" x 18"	LF		\$48.00	\$106,944.00	1/14/2016		\$106,944.00	2/2/2018		\$0.00
Concrete Drive Apron W/Depressed Curb, 6" Thick	SY	2,228							100%	\$0.00
Concrete Sidewalk 4" Thick	SY	108	\$85.00	\$9,180.00	1/14/2016		\$9,180.00	2/2/2018	100%	\$0.00
		441	\$85.00	\$37,485.00	1/14/2016		\$37,485.00	2/2/2018	100%	\$0.00
Handicapped Ramps 6" Thick Concrete Pad	EA SY	2	\$700.00	\$1,400.00	1/14/2016		\$1,400.00	2/2/2018	100%	\$0.00
Concrete Wheelstops	EA	831	\$85.00	\$70,635.00	1/14/2016		\$70,635.00	2/2/2018	100%	\$0.00
		2	\$40.00	\$80.00	1/14/2016		\$80.00	2/2/2018	100%	\$0.00
Retaining Wall		100	\$50.00	\$5,000.00	1/14/2016	0%	\$5,000.00	2/2/2018	100%	\$0.00
STORMWATER IMPROVEMEN										
Roof Drain Collector Piping	LF	515	\$35.00	\$18,025.00	1/14/2016		\$18,025.00	2/2/2018	100%	\$0.00
18" Diameter HDPE Pipe	LF	368	\$100.00	\$36,800.00	1/14/2016		\$36,800.00		100%	\$0.00
24" Diameter HDPE Pipe	LF	135	\$105.00	\$14,175.00	1/14/2016		\$14,175.00		100%	\$0.00
Flared End Section	EA	7	\$3,500.00	\$24,500.00	1/14/2016		\$24,500.00		100%	\$0.00
Standard Stormwater Manhole	EA	4	\$4,200.00	\$16,800.00	1/14/2016		\$16,800.00		100%	\$0.00
Stormwater Inlet Type 'B'	EA	6	\$4,200.00	\$25,200.00	1/14/2016		\$25,200.00		100%	\$0.00
Stormwater Inlet Type 'B' Modified	EA	1	\$4,200.00	\$4,200.00	1/14/2016		\$4,200.00		100%	\$0.00
Stormwater Inlet Type 'E'	EA	1	\$4,200.00	\$4,200.00	1/14/2016	0%	\$4,200.00	2/2/2018	100%	\$0.00
Basin Excavation	CY	7,805	\$10.00	\$78,050.00	1/14/2016		\$0.00		100%	\$0.00
Outlet Protection	EA	12	\$800.00	\$9,600.00	1/14/2016	0%	\$9,600.00	2/2/2018	100%	\$0.00
SUBTOTAL	-			\$1,067,228.00			\$955,178.00			\$60,600.00
Additional 20% Contingence	/		0.20	\$213,445.60			\$191,035.60			\$12,120.00
TOTAL SURET	1			\$1,280,673.60			\$1,146,213.60			\$72,720.00
BOND FOR	:			\$1,280,600.00			\$1,146,200.00			\$72,700.00
		1								
	1			Per MLUL (40:	55D-53.e(1)), 30%	to be retained	\$384,180.00	·		
		I	I							
Any and all estimate items that have been noted ab	ove as 100	% complete an	e so noted s	olely for the nur	noses of estimati	ion and do no	t constitute			
full acceptance of such item(s). The City of Vinelan	d reserves	the right to oco	k additional	norformance re	lating to such its	m/a) and/ar	dupo tho			
non acceptance of such nemi(s). The City of Vineian	u reserves	ure nynt to see Iaaa	n auullional	penomance re	aung to such iter	n(s) and/or re	uuce ine			
completion percentages at its discretion due to cha	nged condit	ions.								

、

•

Location: Delsea Drive and Garden Road		David Maillet		Date: May 22, 20		Rev 6/5/2012				
Project: AG AutoGroup	Checked by	y: Stephen Hawk	(Date: May 23, 20)12	Rev 2/1/18				
Project #: 12-1279										
										_
Improvement Description	Unit	Quantity	U-Price	Total Amount	Date-Inspect	%Complete	Balance	Date-Inspect	%Complete	Balance
			_							
Seeding	SY	100	\$1.00	\$100.00	6/5/2012	50%	\$50.00	1/26/2018	100%	\$0.00
Tree Removal	EA	4	\$400.00	\$1,600.00	6/5/2012	100%	\$0.00	1/26/2018		\$0.00
6' High Wood Screening Fence	LF	24	\$25.00	\$600.00	6/5/2012	100%	\$0.00	1/26/2018	100%	\$0.00
Remove Existing Pavement - 2"	SY	23	\$6.00	\$138.00	6/5/2012	100%	\$0.00	1/26/2018	100%	\$0.00
6" Thick Dense Graded Aggregate	SY	235	\$6.00	\$1,410.00	6/5/2012	50%	\$705.00	1/26/2018	100%	\$0.00
2" Thick Hot Mix Asphalt Base Course	SY	235	\$8.00	\$1,880.00	6/5/2012	0%	\$1,880.00	1/26/2018	100%	\$0.00
2" Thick Hot Mix Asphalt I-5 Surface Course	SY	235	\$7.00	\$1,645.00	6/5/2012	0%	\$1,645.00	1/26/2018	100%	\$0.00
Linestriping	LS	1	\$500.00	\$500.00	6/5/2012	0%	\$500.00	1/26/2018	0%	\$500.00
Site Lighting	LS	1	\$2,000.00	\$2,000.00	6/5/2012	0%	\$2,000.00	1/26/2018	100%	\$0.00
Stop Sign	EA	1	\$200.00	\$200.00	6/5/2012	0%	\$200.00	1/26/2018	100%	\$0.00
Do Not Enter Sign	EA	1	\$200.00	\$200.00	6/5/2012	0%	\$200.00	1/26/2018	0%	\$200.00
Remove Existing Curb (County and NJDOT ROW)	LF	63	\$2.75	\$173.25	6/5/2012	70%	\$51.98	1/26/2018	100%	\$0.00
Concrete Curb 9" x 18" (County ROW)	LF	15	\$30.00	\$450.00	6/5/2012	0%	\$450.00	1/26/2018	100%	\$0.00
Concrete Curb (NJDOT ROW)	LF	68	\$30.00	\$2,040.00	6/5/2012	100%	\$0.00	1/26/2018	100%	\$0.00
6" Thick Concrete Pad	SY	12	\$40.00	\$480.00	6/5/2012	100%	\$0.00	1/26/2018	100%	\$0.00
Concrete Wheelstops	EA	20	\$40.00	\$800.00	6/5/2012	0%	\$800.00	1/26/2018	0%	\$800.00
SUBTOTAL				\$14,216.25			\$8,481.98			\$1,500.00
Additional 20% Contingency			0.20	\$2,843.25			\$1,696.40			\$300.00
TOTAL SURETY				\$17,059.50			\$10,178.38			\$1,800.00
BOND FOR:				\$17,000.00			\$10,100.00			\$1,800.00
				Per MLUL (40:5	5D-53.e(1)), 30% (o be retained	\$5,100.00			
Any and all estimate items that have been noted abo full acceptance of such item(s). The City of Vineland completion percentages at its discretion due to chan	d reserves i	the right to see	so noled so k addilional	olely for the purp	oses of estimation	on and do not	constitute			

•.

,

SURETY ESTIMATE

Project: Madison Square Major Subdivision Checked by: Date: Rev 10-11-06 Rev 7-30-08 Rev	Location: Brewster Road	Made by: \$	Stephen Ha	wk	Date: May 23, 2005		Rev 4-30-07	-	r	1	r		ŢŢ
Project 85-636 Unit Cuantity L-Price Total Amount Date-Inspect %Complete Balance Notes TopscillFertilizer/Seed (All Disturbed Areas) LS LS S \$3700.00 25-Jul-08 650% \$1,975.00 29-Jan-18 100% \$0.00 (c) (c) \$390.00 25-Jul-08 650% \$1,975.00 29-Jan-18 100% \$300.00 (c) (c) \$390.00 25-Jul-08 100% \$300.00 29-Jan-18 100% \$00.00 29-Ja	Project: Madison Square Major Subdivision			1		Rev 10-11-06	Rev 7-30-08	Rev					<u> </u>
Topolif Fertilizer/Seed (All Disturbed Areas) LS LS S3,760.00 25-Jul-08 60% \$1,875.00 29-Jan-16 100% \$20.00 Indberrys, Instelled EA 41 \$30.00 \$33.00.00 25-Jul-08 100% \$20.00 29-Jan-16 70% \$380.00 (0) Cedars, Instelled EA 89 \$50.00 \$24.U0.8 100% \$20.00 29-Jan-16 70% \$310.00 (0) \$30.00 25-Jul-08 100% \$30.00 29-Jan-16	Project #5-658		f										1
Intheterg, Installed EA 41 \$30.00 \$1,230.00 25,24/-08 100% \$30.00 29,34,-16 70% \$117.00 (d) Cedars, Installed EA 43 \$50.00 \$2,44/-08 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,01 100% \$0.00 29,30,01 10,34,30,00 29,34,01 100% \$0.00 29,30,00 29,34,00	Improvement Description	Unit	Quantity	U-Price	Total Amount	Date-Inspect	%Complete	Balance	Notes	Date-Inspect	%Complete	Balance	Notes
Intheterg, Installed EA 41 \$30.00 \$1,230.00 25,24/-08 100% \$30.00 29,34,-16 70% \$117.00 (d) Cedars, Installed EA 43 \$50.00 \$2,44/-08 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,-16 100% \$0.00 29,34,01 100% \$0.00 29,30,01 10,34,30,00 29,34,01 100% \$0.00 29,30,00 29,34,00	Topsoil/Fertilizer/Seed (All Disturbed Areas)	15		15	\$3,750,00	25-101-08	50%	\$1.875.00		29. Jan-18	100%	\$0.00	
Mountain Laurels, Installed EA 13 330.00 \$390.00 25-Jui-06 100%, \$00.00 29-Jan-16 70%, \$117.00 (d) Cedars, Installed EA 40 \$50.00 \$4,460.00 25-Jui-06 100%, \$00.00 29-Jan-16 100%,		FA	41										(d)
Cedars, Installed EA B9 \$50.00 \$4,450.00 \$25-Ju-06 100% \$20.00 \$24-Jan-16 100% \$50.00 Shade Trees, Installed EA 76 \$100.00 \$25-Ju-06 100% \$30.00 \$23-Jan-16 100% \$50.00 \$20-Ju-06 50% \$33.00.00 \$23-Jan-16 100% \$50.00 \$23-Ju-06 50% \$33.00.00 \$23-Jan-16 100% \$50.00 \$23-Ju-06 100% \$23-Ju-06 \$0% \$30.00 \$23-Ju-06 100% \$50.00 \$23-Ju-06 100% \$50.00 \$23-Ju-06 100% \$50.00 \$23-Ju-06 100% \$50.00 \$23-Ju-06 50% \$570.00 \$23-Ju-06 100% \$50.00 \$23-Ju-06 50% \$24.00 \$23-Ju-06 50% \$24.00 \$23-Ju-06 50% \$24.00 \$24.00 \$24.00		FA							·	20-Jan-18			
Ceders, Installed @ Besin #32 EA 4 \$50.00 \$20.00 \$3.00.00 29-Jan-16 100% \$0.00 6 ⁴ High C.J., Fence w/Secening-Slate, Black, Viny(h) LF 1480 \$37.50 \$55.500.00 25-Jul-06 100% \$8.00.00 29-Jan-18 100% \$50.00 SileLot Grading LS LS \$17.500.00 25-Jul-08 100% \$8.00.00 29-Jan-18 100% \$50.00 SileLot Grading LS LS \$17.500.00 25-Jul-08 100% \$8.00.00 29-Jan-18 100% \$50.00 4° Thick Hol Mix Asphalt Base Course SY 6.670 \$14.00 \$25-Jul-08 100% \$8.00.00 29-Jan-18 100% \$50.00 4° Thick Hol Mix Asphalt Base Course SY 6.670 \$14.00 \$25-Jul-08 00% \$20-Jan-18 100% \$50.00 Concrete Curde Ya Par LF 3.82.0 \$12.00 \$45.480.00 25-Jul-08 100% \$50.00 29-Jan-16 100% \$50.00 29-Jan-16 100% \$50.00 <		FA											
Shate Trees, installed EA 76 \$100.00 \$25,00.00 \$29,14-n6 100% \$50.00 SpiH-All-Fence wi-Decarlyo Chain-Link LF 9 \$26,40 \$50.00 \$25,10-06 100% \$50.00 \$29,14-n6 100% \$50.00 \$20,00 \$44,80.00 \$29,14-n6 100% \$50.00 Concrete Work Apron W/Depressed Curb, 0* Thick FA 121 \$77,60.00 \$21,576.00 \$21,40-8													
6 ⁺ High C. L. Fence wiSevening-Slate,-Black-Viny(D) LF 1400 \$37.50 \$25,10.06 100% \$60.00 29-Jan-16 100% \$60.00 Sile/Lot Grading LS LS \$17,500.00 29-Jan-16 100% \$50.00 Sile/Lot Grading LS LS \$17,500.00 29-Jan-16 100% \$50.00 4,7 Thick Hol Mix Asphalt L5 Surface Course SY 6,670 \$14.00 \$25,400.80 100% \$50.00 29-Jan-16 100% \$50.00 4,7 Thick Hol Mix Asphalt L5 Surface Course SY 6,670 \$14.00 \$25,Ju-08 100% \$50.00 29-Jan-16 100% \$50.00 Reconstruct Portions of Madison & Monroe Aves. LS LS \$4,600.00 25-Ju-08 50% \$3,750.00 29-Jan-16 100% \$50.00 Concrete Ourbe Acros Madison & Monroe Aves. LS LS \$4,600.00 25-Ju-08 50% \$3,750.00 29-Jan-16 100% \$50.00 Concrete Ontroe Access Ramp SY 242 \$20.00 25-Ju-08 100% <		EA											
Spitt-Rain-Evene w/ Decensitive Chain-Llink LF 0 \$36.00 \$80.00 26.00 \$60.00 26.00													
Sile_Lot Grading LS IS \$17,50.00 25,50.00 29,1an-18 100% \$0,00 45" Thick Hol Mix Asphall Base Course SY 6,670 \$14,00 \$53,380,00 25,34-08 100% \$50,00 29,1an-18 100% \$50,00 45" Thick Hol Mix Asphall HS Surface Course SY 6,670 \$14,00 \$53,380,00 25,34-08 100% \$50,00 29,1an-18 100% \$50,00 20,1an-18													
6" Thick Soll Aggregate Mix I-5 SY 6.670 \$4.00 \$28,980.00 25-Jul-08 100% \$0.00 29-Jan-16 100% \$0.00 2" Thick Hol Mix Asphall Base Course SY 6.670 \$14.00 \$33,380.00 25-Jul-08 100% \$46,690.00 29-Jan-16 100% \$50.00 2" Thick Hol Mix Asphall Base Course SY 6.670 \$44,800.00 25-Jul-08 00% \$46,490.00 29-Jan-16 100% \$50.00 Concrete Curb 6" X 18" IF 3.820 \$15,750.00 25-Jul-08 100% \$50.00 29-Jan-16 100% \$50.00 Concrete Orbe Arcoss Ramp SY 200 \$4,840.00 25-Jul-08 100% \$50.00 29-Jan-16 100% \$0.00 Paved Basin Access Drives SY 242 \$20.00 \$4,440.00 25-Jul-08 \$56,801.00 29-Jan-16 100% \$0.00 Concrete Markalk 4" Thick SY 242 \$20.00 \$2,Jul-08 \$56,861.40 29-Jan-16 100% \$0.00 Concrete Markalk 4" Thick SY		10	¥						a)				
4.5° Thick Hot Mix Asphelt Base Course SY 6,670 \$14.00 \$93,80.00 25-Jul-08 100% \$50,00 29-Jan-18 100% \$50,00 Reconstruct Portions of Medison & Monroe Aves. LS LS \$46,800.00 25-Jul-08 60% \$24,000.00 29-Jan-18 100% \$90,00 Concrete Onive Apron Wi/Depressed Curb, 6° Thick EA 21 \$750,00 \$35,760.00 29-Jan-18 100% \$90,00 Concrete Onive Apron Wi/Depressed Curb, 6° Thick EA 21 \$750,00 \$35,760.00 29-Jan-18 100% \$0,00 6° Thick Reinforced Concrete Access Ramp SY 100 \$30,00 \$25-Jul-08 100% \$0,00 29-Jan-18 100% \$0,00 Concrete Edidevalk 4" Thick SY 1,868 \$24,50 \$41,860.00 25-Jul-08 35% \$26,811.40 29-Jan-18 100% \$0,00 29-Jan-18 100%	6" Thick Soil Aggregate Mix LE		6 670										
2 ⁺ Thick Hol Mix Asphalt I-5 Surface Course SY 6,670 \$7.00 \$46,690.00 25-Jul-08 0% \$46,690.00 29-Jan-18 100% \$50.00 Concrete Curb 6" x 18" LF 3,820 \$12.00 \$45,840.00 25-Jul-08 50% \$2,400.00 29-Jan-18 100% \$0.00 Concrete Curb 6" x 18" LF 3,820 \$12.00 \$45,840.00 25-Jul-08 50% \$7,875.00 29-Jan-18 100% \$0.00 29-Jan-18 100%			· · · · · · · · · · · · · · · · · · ·										
Reconstruct Portions of Madison & Monroe Aves. LS LS S4 400.00 25-Jul-08 50% S2 200.00 29-Jan-16 100% \$0.00 Concrete Drive Apron W/Depressed Curb, 6" Thick EA 21 \$750.00 \$51,750.00 25-Jul-08 50% \$7,875.00 29-Jan-18 100% \$0.00 Concrete Drive Apron W/Depressed Curb, 6" Thick EA 21 \$750.00 \$51,750.00 25-Jul-08 50% \$7,875.00 29-Jan-18 100% \$0.00 Concrete Idexcess Drives SY 242 \$20.00 \$25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Idendicapped Ramps EA 2 \$400.00 \$25-Jul-08 50% \$320.00 29-Jan-18 100% \$0.00 Concrete Monuments 7+4"X30" EA 8 \$400.00 \$32.00.00 29-Jan-18 100% \$3.200.00 29-Jan-18 100% \$3.00.00 29-Jan-18 100% \$3.00.00 29-Jan-18 100% \$3.00.00 29-Jan-18 100% \$3.00.00 29-Jan-18													
Concrete Curb 6" x 18" LF 3,820 \$12.00 \$45,840.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Drive Apron W/Depressed Curb, 6" Thick EA 21 \$755.00 25-Jul-08 100% \$7,750.00 29-Jan-18 100% \$0.00 6" Thick Reinforced Concrete Access Ramp SY 100 \$30.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Sidewalk 4" Thick SY 1,688 \$24,50 \$41,360.00 25-Jul-08 100% \$20,00 29-Jan-18 100% \$0.00 Concrete Mandicapped Ramps EA \$440.00 \$32,00.00 25-Jul-08 50% \$400.00 29-Jan-18 100% \$0.00 Concrete Mandicapped Ramps EA \$400.00 \$32,00.00 25-Jul-08 100% \$30.00.00 29-Jan-18 100% \$0.00 129-Jan-18		01	0,070						I				
Concrete Drive Apron W/Depressed Curb, 6" Thick EA 21 \$750.00 \$25-Jul-08 50% \$7,875.00 29-Jan-18 100% \$0.00 Paved Basin Access Drives SY 242 \$20.00 \$4,440.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Idewalk 4" Thick SY 1,688 \$24.50 \$41,356.00 25-Jul-08 35% \$26,881.40 29-Jan-18 100% \$0.00 Concrete Identicapped Ramps EA 2 \$400.00 25-Jul-08 35% \$26,881.40 29-Jan-18 100% \$0.00 Concrete Monuments 4*x4*x30" EA 8 \$400.00 25-Jul-08 00% \$3,200.00 29-Jan-18 100% \$0.00 Concrete Monuments 4*x4*x30" EA 8 \$400.00 \$2-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Monuments 4*x4*x30" EA 8 \$22.50 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 18" Diameter InStone Trenc		15 -	2 000										<u> </u>
6" Thick Reinforced Concrete Access Ramp SY 100 \$30.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Paved Basin Access Drives SY 242 \$20.00 \$4,840.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Concrete Sidewalk 4" Thick SY 1,868 \$24.50 \$41,356.00 25-Jul-08 35% \$26,881.40 29-Jan-18 100% \$0.00 Concrete Handlcapped Ramps EA 2 \$400.00 \$32.00.00 25-Jul-08 50% \$400.00 29-Jan-18 100% \$0.00 Concrete Manuments 4"x4"x30" EA \$400.00 \$32.00.00 25-Jul-08 100% \$3.200.00 29-Jan-18 100% \$0.00 29-Jan-18 </td <td></td> <td>l</td>													l
Paved Basin Access Drives SY 242 \$20.00 \$41,450.00 25,JJ-08 100% \$50.00 29,Jan-16 100% \$0.00 Concrete Sidewalk 4" Thick SY 1,688 \$24,50 \$41,356.00 25,JJ-08 35% \$26,881.40 29,Jan-16 100% \$50.00 Concrete Handlcapped Ramps EA 2 \$400.00 \$32,00.00 25,JJJ-08 5% \$26,881.40 29,Jan-18 100% \$50.00 Concrete Handlcapped Ramps EA 8 \$400.00 \$32,00.00 25,JJJ-08 5% \$32,00.00 29,Jan-18 100% \$50.00 25,JJJ-08 100% \$32,00.00 29,Jan-18 100% \$50.00									ļ				ļ
Concrete Sidewalk 4" Thick SY 1,688 \$24.50 \$41,366.00 25.Jul-08 35% \$26,881.40 29.Jan-18 100% \$0.00 Concrete Handicapped Ramps EA 2 \$400.00 \$800.00 25.Jul-08 50% \$400.00 29.Jan-18 100% \$20.00 (c) 15" Diameter ADS Pipe LF 817 \$15.00 \$52.200 25.Jul-08 100% \$20.00 (c) 10% \$30.00 29.Jan-18 100% \$0.00 10% \$30.00 29.Jan-18 100% \$0.00 10% \$30.00 29.Jan-18 100% \$0.00 10% \$0.00 29.Jan-18 100% \$0.00													I
Concrete Handicapped Ramps EA 2 \$400.00 \$800.00 25-Jul-08 50% \$400.00 29-Jan-18 100% \$0.00 Concrete Monuments 4"x4"x30" EA 8 \$400.00 \$3,200.00 25-Jul-08 0% \$3,200.00 29-Jan-18 00% \$3,200.00 29-Jan-18 100% \$3,00.00 29-Jan-18 100% \$3,00.00 29-Jan-18 100% \$3,00.00 29-Jan-18 100% \$0.00													
Concrete Monuments 4"x4"x30" EA 8 \$400.00 \$3,200.00 25-Jul-06 0% \$3,200.00 29-Jan-18 0% \$3,200.00 (C) 15" Diameter ADS Pipe LF 817 \$15.00 \$12,25.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 384 \$22.50 \$8,640.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 712 \$47.50 \$3,320.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Isoten Trench LF 712 \$47.50 \$33,820.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Mashole EA 3 \$1,800.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 8 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18													
15" Diameter ADS Pipe LF 817 \$15:00 \$12,255.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 18" Diameter ADS Pipe LF 29 \$18.00 \$522.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 384 \$22.50 \$8,640.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 712 \$47.50 \$33,820.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Flared End Section EA 3 \$275.00 \$825.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Flared End Section EA 3 \$1,800.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 <td></td> <td>EA</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td> </td> <td>29-Jan-18</td> <td>100%</td> <td></td> <td>1</td>		EA								29-Jan-18	100%		1
18" Diameter ADS Pipe LF 29 \$18.00 \$522.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 384 \$22.50 \$8,640.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter ADS Pipe LF 384 \$22.50 \$3,820.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Flared End Section EA 3 \$275.00 \$825.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Manhole EA 3 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>L</td><td></td><td></td><td></td><td>(C)</td></td<>									L				(C)
24" Diameter ADS Pipe LF 384 \$22.50 \$8,640.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Perf. Pipe 36" Diameter In Stone Trench LF 712 \$47.50 \$33,820.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Flared End Section EA 3 \$275.00 \$825.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Standard Stormwater Manhole EA 3 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 8 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 \$5-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 \$29-Jan-18<	15" Diameter ADS Pipe												<u> </u>
Perf. Pipe 36" Diameter In Stone Trench LF 712 \$47.50 \$33,820.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 24" Diameter Flared End Section EA 3 \$275.00 \$825.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Standard Stormwater Manhole EA 3 \$1,800.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Intel Type 'B' EA 8 \$1,600.00 \$12,800.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Intel Type 'B' EA 4 \$1,600.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL LS LS \$2,250.00 \$101,871.40 \$3,686.00 \$101,871.40 \$3,686.00 Additional 20%													
24" Diameter Flared End Section EA 3 \$275.00 \$825.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Standard Stormwater Manhole EA 3 \$1,800.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 8 \$1,600.00 \$12,800.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Bornwater Inlet Type 'E' EA 4 \$1,600.00 \$25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL LS LS \$2,250.00 25-Jul-08 100% \$10,00% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL LS LS \$2,250.00 25-Jul-08 100% \$10,07,737.20 \$737.20 TOTAL SURETY \$2657,841.60 78% <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>29-Jan-18</td><td>100%</td><td></td><td></td></td<>										29-Jan-18	100%		
Standard Stormwater Manhole EA 3 \$1,800.00 \$5,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 8 \$1,600.00 \$12,800.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Stormwater Inlet Type 'B' EA 4 \$1,600.00 \$6,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL Stof 44,868.00 \$101,871.40 \$3,868.00 \$101,871.40 \$3,868.00 \$737.20 Moditional 20% Contingency 0.20 \$92,973.60 \$20,374.28 \$737.20 \$4,423.20 Mark and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not \$4,4400.00 \$122,200.0										29-Jan-18	100%		
Stormwater Inlet Type 'B' EA 8 \$1,600.00 \$12,800.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Rip Rap Protection/Conduit Outlet Protection LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL SUBTOTAL \$464,868.00 \$101,871.40 \$3,866.00 \$20,374.28 \$3,737.20		EA											
Stormwater Inlet Type 'E' EA 4 \$1,600.00 \$6,400.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Rip Rap Protection/Conduit Outlet Protection LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL SUBTOTAL \$4464,868.00 \$101,871.40 \$3,686.00 \$737.20 Additional 20% Contingency 0.20 \$92,973.60 \$122,245.68 \$4,423.20 \$44,423.20 BOND FOR: \$557,5780.00 \$122,245.68 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.0		EA											
Basin Excavation & Seed LS LS \$5,000.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 Rip Rap Protection/Conduit Outlet Protection LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL \$464,868.00 \$101,871.40 \$3,686.00 \$101,871.40 \$3,686.00 Additional 20% Contingency 0.20 \$92,973.60 \$20,374.28 \$737.20 TOTAL SURETY \$557,841.60 78% \$12,245.68 \$4,423.20 BOND FOR: \$575,780.00 \$122,240.00 \$122,240.00 \$44,400.00 Per MLUL (40:55D-53.e(1)), 30% to be retained \$172,734.00 \$4,400.00 \$4,400.00 Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$4,400.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00 \$122,200.00		EA											
Rip Rap Protection/Conduit Outlet Protection LS LS \$2,250.00 25-Jul-08 100% \$0.00 29-Jan-18 100% \$0.00 SUBTOTAL \$464,868.00 \$101,871.40 \$3,686.00 \$737.20 Additional 20% Contingency 0.20 \$92,973.60 \$20,374.28 \$737.20 TOTAL SURETY \$557,841.60 78% \$122,245.68 \$4,423.20 BOND FOR: \$575,780.00 \$122,200.00 \$4,400.00 Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not		EA	4									\$0.00	
SUBTOTAL \$464,868.00 \$101,871.40 \$3,686.00 Additional 20% Contingency 0.20 \$92,973.60 \$20,374.28 \$737.20 TOTAL SURETY \$557,841.60 78% \$122,245.68 \$4,423.20 BOND FOR: \$575,780.00 \$122,200.00 \$44,400.00 Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not		LS									100%	\$0.00	
Additional 20% Contingency 0.20 \$92,973.60 \$20,374.28 \$737.20 TOTAL SURETY \$557,841.60 78% \$122,245.68 \$4,423.20 BOND FOR: \$575,780.00 \$122,200.00 \$4,400.00 Per MLUL (40:55D-53.e(1)), 30% to be retained \$172,734.00 \$4,400.00 Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not		LS		LS		25-Jul-08	100%			29-Jan-18	100%	\$0.00	
TOTAL SURETY \$557,641.60 78% \$122,245.68 \$4,423.20 BOND FOR: \$575,780.00 \$122,200.00 \$4,400.00 Per MLUL (40:55D-53.e(1)), 30% to be retained \$172,734.00 \$4,400.00 Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not								\$101,871.40				\$3,686.00	
BOND FOR: \$575,780.00 \$122,200.00 \$4,400.00 Per MLUL (40:55D-53.e(1)), 30% to be retained \$172,734.00				0.20								\$737.20	
Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not constitute full acceptance of such item(s). The City of Vineland reserves the right to seek additional performance relating to such item(s) a) Fence waived by Planning Board. b) Black Vinyl Clad with Stats not required per Brian Myers 2-2-18 c) c) Will need surveyor to set CMs (per Owner during site inspection)					\$557,841.60		78%	\$122,245.68				\$4,423.20	
Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not constitute full acceptance of such item(s). The City of Vineland reserves the right to seek additional performance relating to such item(s) a) Fence waived by Planning Board. b) Black Vinyl Clad with Stats not required per Brian Myers 2-2-18 c) Will need surveyor to set CMs (per Owner during site inspection)	BOND FOR:				\$575,780.00			\$122,200.00				\$4,400.00	
Any and all estimate items that have been noted above as 100% complete are so noted solely for the purposes of estimation and do not constitute full acceptance of such item(s). The City of Vineland reserves the right to seek additional performance relating to such item(s) a) Fence waived by Planning Board. b) Black Vinyl Clad with Stats not required per Brian Myers 2-2-18 c) Will need surveyor to set CMs (per Owner during site inspection)	······································				Dog MI 111 (40.55D	52 0(1) 209/	to be retained	6470 724 00					
constitute full acceptance of such item(s). The City of Vineland reserves the right to seek additional performance relating to such item(s)	Any and all estimate items that have been noted	above as	100% con	nplete are s	o noted solely for t	he purposes	of estimation a	nd do not					┼
a) Fence waived by Planning Board. b) Black Vinyl Clad with Slats not required per Brian Myers 2-2-18 c) Will need surveyor to set CMs (per Owner during site inspection)									<u> </u>	1			┼──┦
b) Black Vinyl Clad with Slats not required per Brian Myers 2-2-18	a) Fence waived by Planning Board.												├ ───┦
c) Will need surveyor to set CMs (per Owner during site inspection)	b) Black Vinyl Clad with Slats not required per Brian M	vers 2-2-1	3	1		<u> </u>							<u>├</u>
						1							<u>├</u>
				nd will need	to be replaced								├─── /

•

.

.

ŗ.

.

.